Cle

M 5 &

i

E

T ¥ 5 % 2 A




WiEx RBEB TR AR SR LR

% # e - Bk B B B B & & W E
E R 56,963,280 + 5,558,928 62, 522, 208
EEAGE 56, 963, 280
EERE 5,558,928
Z O ftuR i 56,963,280 x 42.86% ( 30% + (1 — 30%) ) 24, 414, 461
RBR(E 62,522,208 + 24,414, 461 86, 936, 669
—REEES 86,936,669 x 53.85% ( 35% = (1 — 35% ) ) — 2,065 46, 813, 331
EZ 86,936, 669 + 46,813, 331 133, 750, 000
HEGEHELE 133,750,000 x 10.00% 13, 375, 000
EBTEH 133,750,000 + 13, 375, 000 147,125, 000




BERNRE LETEARTRREREMBER
£ 5 R - ARk =P 2 =i & # =

BRI 62, 522, 208
EIIRRERERER 62,522, 208
BEIIRRERERER 56, 963, 280
EIIRRERERER 56, 245, 680
EITIRREREHBETRS 56, 245, 680
| BIRAREREHBETR 24.00 2,343, 570. 00 56, 245, 680

A
&t 717, 600
T8+ 662, 400
2 iTEE 24. 00 27, 600. 00 662, 400

Bl
& - |E 55, 200
R 1.00 55, 200. 00 55, 200

=
EERE 5,558, 928
EERE 5,558, 928
BEERALE 543, 909
4 EHRARE 1.00 543, 909. 00 543,909

=
EHEHERRE 1,087,819
EHEHERRE 1.00 1,087, 819. 00 1,087,819

=
EEAEDEEHRVBGRES 1, 200, 000




BERRE

LEZEEBTIKHEREMBES

6 XERAEPEENRVEGES 1.00 1, 200, 000. 00 1,200, 000
=

EBHRRRE 92,000

ES T 1.00 92, 000. 00 92, 000
=

EBRAEBHZENRVERES 2,635, 200

8 RBEAEBEENRURRES 1.00 2,635, 200. 00 2,635, 200
=
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&5 1
2 ETIKRHEREMEER A&y (1R)
£ 7 R - BAKTiE I=“Riva H = B O(f L] i if &
FEETE HEm (A)
A 1. 400 55, 200. 00 71, 280
H TS HEm (C)
= 1.000 2,266, 290. 00 2,266, 290
= it 1YE¥HEH - 1.008 2,343, 570. 00 2,343,570
FISEFESMEIE T L
FHE—BME : L
&5 :2
&% TEE mH=Y (@)
£ 5 R - KT B #H = B f % i3 s &
EERINE A (A)
A 0. 500 55, 200. 00 217,600
& it YE%HEH - 1.00[E 217, 600. 00 27, 600
FIEEERESMEE T L
FHE—BMEIE : HL
&5 :3
& 5% - | KLY (ARK)
2] 5 R - KT B #H = B O(f 58 i3 i &
EERIE HEf (A)
A 1.000 55, 200. 00 55, 200
& it 1EZREA : 1.00 55, 200. 00 55, 200
FEEESAEE AL
FHE—IEWE: GTL
254
&% EHARE 14y
2] [ R - KTk I=-Riv] #H = B £ i3 i &
EHBRARE
= 1.000 543, 909. 00 543, 909
& it 1EZREA - 1.00 543, 909. 00 543, 909
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&5 :5
2% . EERERARE IEER
22 g g - BIRTE BT #H = B O(f & # i if &
BEHRERARE
= 1.000 1,087, 819.00 1,087, 819
= it YE¥#EH - 1.00K 1,087, 819.00 1,087, 819
FIEERESMEIE AL
T —EWE: BTL
&5 :6
2% ¥FAEHEEHNRVELES 1LY
22 5 R - KT BAfT ¥ = B f & i3 s &
S rRY 1. 5L
= 1.000 1,200, 000. 00 1,200, 000
& it YEZEREN - 1. 00 1,200, 000. 00 1,200, 000
FIEERSMEIE AL
FHE—EWE: BL
&5 7
2% EBHRRE KLz (1X)
2 5 R - BIRTE B B = B f ® % i3 i &
EBHERE
=K 1.000 92, 000. 00 92, 000
& it 1EZRER : 1.00 92, 000. 00 92, 000
FEEESEE L
FHE—IEWE: GTL
5 :8
2 EBAEHEEHRUVERES IEED
2] 5 K - IR BAfE H = B & i3 i &
=t EBRAEHRE
= 1.000 2,635, 200. 00 2,635, 200
& PEEEH - 1,005t 2, 635, 200. 00 2, 635, 200
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